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= & fH1E fHIERTODER fHIEZE &t
— A% = &t 15 10,834,486 74,330 10,908,816
EREBRRKREFIN S 1,896,055 1,896,055
®EUSHEERENE F55 276,604 A 2,297 274,307
nTERKRS N =G 1,156,071 1,156,071
NES—ERFHEE 38,362 38,362
KM EEFRA = 33,099 33,099
#w & &t 14,234,677 72,033 14,306,710
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7 =] FHERTOEE| 4 1E %8 Hi HEEDOELRNE
1 H it 4,819,876 4,819,876
2 W A E 5 i 58,600 5619 64,219
3 M F B OX O+ &£ 1,673 A 29 1,644
4 B OH B X F £ 14,000 15,790 29,790
5 HKAZEREMEIXLR 15,000 26,418 41,418
6 EABFEBRIME 103,806 4,623 108,429
7 MAHEEBRIXMGE 655,000 30,630 685,630
8 BEMEIXRMN=® 6,000 3,994 9,994
9 1 A B Fl X T & 130,127 130,127
10 # A X f H 1 755 756
1 XBEREMFHIX AR 2,000 2,000
12 #EERUVEHESE 95,707 95,707
13 FAHMRTFHH 59,577 59,577
4 B E X H % 1,903,815 A 13,470 1,890,345| - Ex#&#kzI<# > BBEOHE
15 B 53 H & 762,344 762,344
16 Bt I3 I A 31,837 31,837
17 & 5} & 452,601 452,601
18 ## A & 710,097 710,097
19 #& 24 o 463,112 463,112
20 3 1 A 120,313 120,313
21 HT & 429,000 429,000

m A& E 10,834,486 74,330| 10,908,816
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7 £l fHIERTDRE| 4 IE 2 &t HERBEODELRNE
1 & = b= 83,143 83,143
2 % b= 1,790,763 1,790,763
3 R £ E= 1 3,962,773 A 13,682 3,949091| - sERfittE MmO B LR OME
4 % b= 683,703 683,703
5 % & 7 2,647 2,647
6 B M K E % B 96,950 96,950
7 B I & 34,971 34,971
8 = N & 999,673 999,673
9 H ;] & 542,212 542,212
10 #% B 7 1,629,312 1,629,312
"nm X F #® 1B & 0 0
12 2 & 7 489,247 489,247
13 & 52 H o 509,092 88,012 597,104| - &&f IS
14 ¥ fis & 10,000 10,000
A 10,834,486 74,330| 10,908,816




